
Limit Scavenger Hunt



      lim
3

1x




xxe

36

1



  
32

9
lim

2

2

-3x






 xx

x

1







 32

9
lim

2

2

1x xx

x

2

3



 
   

9
lim

49r


 r

r





 
8

8
lim

8x





 x

x










 2

2

x 21

21
lim  . 13  

xx

xx

1



   
32

25
lim

3

23

x






 xx

xx

2

1



 lim 3

2x




xe

2

5



v

v





 4

24
lim

v

6e



  























3 xif        3-x

3x0 if   x         -3

0  x if           x -

  f(x)Let 

2

)(lim
0x

xf


2



  























3 xif        3-x

3x0 if   x         -3

0  x if           x -

  f(x)Let 

2

)(lim
3x

xf


ExistNot  Does



x
x

x

6

1

6

1

lim
0






0


